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02 =24l 2,760 3,800 A 1,040
03322 % HA 600
OEMIIEXNE BEEE 600,000& »1CH 600
O Xt& & EHh| 2,160
OEMZSEEXE =Xl 180,000& 122 2,160
202 4Hl 3,500 3,500 0
01 = LH A HI 3,500 3,500 0
OSAZ XM (8s)d3s FX0il
10,000& +2H 100 2,000
OAMZwx &= =& 22l
50,000 x2H 152 1,500
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AN ATt
Ha: HEAHY
ol SHEAHAE Y 29 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
305 Hal=s 500 500 0
01 Hia=S 500 500 0
HNOISHCHE AblRa 50,000& =10 500
405 RHoHE S HI 700 0 700
01 AL EFFHSHI 700 0 700
=8 =8I 100, 000& *7CH 700
ot Fl 3,404,300 3,598,500 A 194,200
= 345,000
< 129,000
s 2,930,300
THoH Ol ' 2+e 3,404,300 3,598,500 A 194,200
= 345,000
< 129,000
= 2,930,300
ACHEEHIALY (X &) 1,312,000 1,776,000 A 464,000
401 AIEHI L 20 1,312,000 1,776,000 A 464,000
01 A& HI 1,303,400 1,768,400 A 465,000
OAcHE ZHIAHY 1,303,400
OOt AGHE FHIALS (& &)
707,600,000 =14 707,600
OSg £Ao6tA HUIALY (&l 7)) (&3
297,900,000 =14 297,900
O A6t& A (A7) (X&)
297,900,000 =14 297,900
03 Al 2 THHI 8,600 7,600 1,000
A0td FZHIALS 8,600
O&g Actd ZHIAY 2,100,000 » 14! 2,100
OO Aotd FHIALS 4,400,000 =14 4,400
O=t Actd ZFHAMH 2,100,000& x 14! 2,100
St EHIALY 1,170,000 1,050,000 120,000
401 AIEHI L 2 CHEI 1,170,000 1,050,000 120,000
01 A& HI 1,167,200 1,050,000 117,200
OLASHARXEFALS 10,000,000 *209H £~ 200,000
OXN SR 2 At 10,000,000 & *20H £ 200,000
Ootd&ES & =32HA 397,200,000 =14 397,200
OBYES sigel HLAE HUIAY
100,000, 000& * 14 100,000
OgyH Mol e FHAE
70,000,000& =14 70,000
OFEH shate| HEA HUAY
200,000,000 =14 200,000
03 AlE 2 THHI 2,800 0 2,800
OStdEL & ==2HA 2,800,000& 14! 2,800
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2N
X ZH -
L= B

el

oF & TH
ot& FHl
THoHone 22l

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot& = Al 22l At 227,300 227,500 A 200
101 @14 Hl 46,800 47,000 A 200
04 JIZHHZ2XNEE S 46,800 47,000 A 200
Odtd JIdH 2
160,000& x24F 1001 S & 38,400
Ostd =222k 2 200,000 *420H 2~ 8,400
201 L2l 70,000 70,000 0
01 At 22l 70,000 70,000 0
oYXz 70,000
Octd =& &Hl X2
500,000& «142 x10JH S S 70,000
202 44l 2,500 2,500 0
01 S LHOIYI 2,500 2,500 0
Ootd2el PR=A 22 bl
50,000 x5H 102 2,500
401 AlEHI 22 ThYI 108,000 108,000 0
01 A& HI 108,000 108,000 0
OdtdANE=E & & F4l
9,000,000 * 1204 2 108,000
Ngotd RAE AHY 310,000 160,000 150,000
< 129,000
i 181,000
401 A& HIZ 201 8] 310,000 160,000 150,000
< 129,000
i 181,000
01 A& HI 307,768 158,848 148,920
OX&otE A2+ At 178,704,000 14 178,704
< 90,000
s 88,704
Ost&=&Hl & 2el 129,064, 000& 14! 129,064
< 39,000
[ia 90,064
03 A& =TI 2,232 1,152 1,080
OX&otd = X2+ At 1,296, 000& 14 1,296
OstEZHl & 2el 936,000 » 14! 936
=2 (4UHY) AXAE A2 345,000 345,000 0
= 345,000
101 @124 dl 136,735 136,214 521
= 136,735
04 JIZHHZ2XREES 136,735 136,214 521
O=A&el 2y 71,720
oJlzs 68,7203 x4 H x250 68,720
= 68,720




2N

oF & TH

M ofd FHHl
SHol: Aol 22l (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O= &l 3,000 x4 x250 3,000
= 3,000
oof=22 o2y 22,995
OoJles 60,0003 x 1 3652 21,900
= 21,900
O= &l 3,0003 x1H+3652 1,095
= 1,095
oOxFs=+¢ 68,7203 x4H 52 14,294
= 14,294
OHXt=Y 68,7203 x4H 128 3,299
= 3,299
42 = 95,340,000 x12% 11,441
= 11,441
o1l =l 150,000 »4H »23] 1,200
= 1,200
OZF & F Il 200,000& x4H x23| 1,600
= 1,600
QJIZH 22X &3
55,0003 *30 x2EH 2 H 6,600
= 6,600
OHM= "4 22Y 68,7203 x5 10 3,436
= 3,436
O&E= 34 MIA A8 =S|
3,000 x5H x10 150
= 150
201 L2l 32,000 32,000 0
= 32,000
02 8323l 32,000 32,000 0
o03=2= % MA 20,000, 0003 *14] 20,000
= 20,000
OXE=X ¥ AELFHHI KL
12,000, 000& 14! 12,000
= 12,000
401 A& H L 2T 176,265 176,786 A521
= 176,265
01 A& HI 176,265 176,786 A 521
OANEsS & =729 |2l
176,265,000& 14 176,265
= 176,265
=22 (40HZ) A=Ad X2l (XHA) 40,000 40,000 0
201 £B-2dH| 22,000 22,000 0
01 At 22l 22,000 22,000 0
O el 12,000
O QEBELE LAY &34
3,000& x2,0000H 6,000




S QHETH LD

g otd FHl

S THalolg 2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsZel 2LEHTH 22234l
6,000,000 » 14! 6,000
o2I+E 10,000
OSdel QEALE =AY
50,000& 200 10,000
206 = Hl 5,000 5,000 0
01 M2 4l 5,000 5,000 0
OAZE & E=s2EH F 5,000,000 *14 5,000
401 AIEHI L 2CHEI 13,000 13,000 0
01 A& Bl 13,000 13,000 0
OAN&Es & =79 |2l
13,000, 000& 14 13,000
£ gL =8 FHul 4,400 0 4,400
2 4,400
=2 402) 22l 4,400 0 4,400
2 4,400
LGEA(HANE) FHIS AL 4,400 0 4,400
2 4,400
401 Al HIZ 201 8] 4,400 0 4,400
2 4,400
01 A& HI 4,400 0 4,400
OgdAFTHIA XA 4,400,000& * 14 4,400
2 4,400
SOAAAE BYH L3t 2,281,159 2,041,076 240,083
SHAIAE2E 2,281,159 2,041,076 240,083
SN L2d 454,560 434,760 19,800
201 Let2d] 452,760 432,960 19,800
02 2324l 452,760 432,960 19,800
oz22= & HMA 452,760
O&~zZ2t S&Y sl848  3,500,000& =122 42,000
OZ-F£I|2 U - HALLD SBYS M
=3 15,000,000& »12& 180,000
O0lSEHAMIFHEHI AEZ
90,0003 *2CH*12& 2,160
Oolssd & 150,000 ~4CH+ 123 7,200
OS2 XU AIXI(SMS) MElAOIEZ
2,000,000& x13| & +12& 24,000
OSHASRA QB RH ASL 0122
50,000& 103 & =128 6,000
O=&d ¢ A=) |2 8% Letdstg
12,000,000& 128 144,000
OFLUSH L SJRAARA QAHUSZE AMS
= 700,000& 123 8,400




2 X oFM TH LI}
B SMAIAH ZE 23
ool EMAAHSH CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ORdes oles 10,000 *60CH x 12 7,200
O0HYAEE & 02
500,000& *x23| & x12& 12,000
OXNY HCE PEE SHARS NHI2
1,650,000 x12& 19,800
202 044l 1,800 1,800 0
01 2L Y| 1,800 1,800 0
OsSKNYRF=A (| 50,000& *3Y¥ » 12 1,800
HESAMAAE 222 122,711 173,459 N50,748
201 et 9| 101,711 103,959 A2,248
01 AFR 2t 2| bl 3,600 3,600 0
OYtt4L24| 3,600
OSHE EXNU S MEE &34l
300,000& x12& 3,600
02 22244l 98,111 100, 359 N2,248
O A& 24l XYl 98,111
OFUW dM3tald A2 SA&cldl
500,000 14! 500
OlPwED| & AM3)| | X2l
23,000,000 x 14! 23,000
O &s5&X S A 2eldl
95,177,000 *8% 7,615
OY a3 o & |SA22ldl 83,122,300& 8% 6,650
OSAalA HEASI |X22d
16,196, 000& *8% 1,296
OSHlA s2stE50| A2l
22,754,000 x8% 1,821
O XX Lo (ZHE )EE SA2eldl
30,000, 000 8% 2,400
O XA S22 33,270,000 x8% 2,662
OIPS SAl&2ldl 37,600,000 8% 3,008
OIPZEIAAE X228l 25,554, 100 8% 2,045
OLS3tEH SAl2e2ldl 45,100,000 *8% 3,608
OHES3a X2l 10,800,000 » 1Al 10,800
O3 ogdas UHSESEX sA22dl
24,000,000 x 14! 24,000
OR2HE32 AIAE KX &2l
61,822,000 8% 4,946
OE4A UPS X122l 47,000,000 *8% 3,760
405 XH&HF S HI 21,000 39,500 A 18,500
01 XA E B F S| 21,000 39,500 A 18,500
OXNSOHLHESAIAE WX 17,000,000 = 1Al 17,000
OmAIYe EotAH WH 4,000,000 = 1CH 4,000
CCTV &x ¥ &8¢ 436,204 263,600 172,604




2 X oFM TH LI}

B SMAIAH ZE 23

el SMAAERY (B9 ®R)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 260,000 260,000 0
02 =224 H| 260,000 260,000 0

O A& &l XYl 260,000
OCCTV & 2 HHEH SERXES
260,000,000 « 1Al 260,000
202 044 3,600 3,600 0
01 2L Hl 3,600 3,600 0
OCCTV & & &HOoHXel X oyl
20,000& 3% 60 3,600
401 AlEHIZL 2 0HY| 172,604 0 172,604
01 Al&H| 168,000 0 168,000
oolsgy IAEEZ eI &X
12,000,000 * 1404 2~ 168,000
02 2eldl 3,394 0 3,394
oolsgy IFAEE XN Il &X
168,000,000 *2.02% 3,394
03 Al 21| 1,210 0 1,210
oalsgy IAFEE XD &X
168,000,000 *0.72% 1,210
CCTVS &2 HHEE 29 374,040 313,240 60,800
201 LBt Y| 374,040 300,240 73,800
01 AP 22| H| 25,200 25,200 0
OYbt4=24| 25,200
OSE2HNEE 22| 500,000& x12& 6,000
O2HS/W 2toldlA el 240,000 x80H 19,200

02 2324 348,840 275,040 73,800
02322 % HA 348,840
OCCTV M23sd2 110,000 x2303| & «12& 303,600
OCCTV &2l & 13,000 290 A« 12& 45,240

CCTVELIEHE 24 880,000 850,000 30,000
307 212t0| & 880,000 850,000 30,000
05 QIZ2tEF 2 880,000 850,000 30,000

OCCTV &M Z2LIEHZ =< 880,000,000 1A 880,000

22 2A0/I0| X 24 13,644 6,017 7,627
201 B9 9,660 4,505 5,155
02 E2=2=24%H| 9,660 0 9,660

o2& 222000 &2
35,000 233 & x12& 9,660
308 XAHXIEHMSOIA 3,984 1,512 2,472
07 AKX S22 3,984 1,512 2,472
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AN ATt
o SAAAY ZMS 2
el EAAAHSY (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHA 232A0/I0l B2 RFE3
,983,930& 14 3,984
HRES (LM TH D) 200,000 200,000 0
HEHHK = 200,000 200,000 0
WEAHHXI S (M2l 3) 200,000 200,000 0
702 JISHES 200,000 200,000 0
NEEEEE! 200,000 200,000 0
OM:t2eldIg A& 200,000, 000& 200,000
AL (LA TH D) 68,440 60,520 7,920
Jl=&l 68,440 60,520 7,920
Jl=dl 68,440 60,520 7,920
201 Let24d] 38,800 33,640 5,160
01 At 22/l 38,800 33,640 5,160
©OFR-Iget =]l 20,400
OZN2S+=EHl 1,700,000& »12& 20,400
O= &l 8,000 23 100 18,400
202 O4Hl 24,840 22,080 2,760
01 S LHAYI 24,840 22,080 2,760
©fl] 90,000 x23H 128 24,840
203 YR =&l 4,800 4,800 0
04 NI 4,800 4,800 0
ORAN2EYE=AHI 400,000& 123 4,800




